Fitting results

S S R K
ST S R 5T ¢

Result
0.580 £ 0.007
1.207 + 0.024
-0.378 £ 0.004
0.380 + 0.004
0.016 £ 0.011
-0.012 £ 0.011
0.748 + 0.006
-0.750 £+ 0.006

REKE UL G AR

Result (no L)
0.570 + 0.006
1.205 £+ 0.022
-0.376 + 0.004
0.379 + 0.004
0.008 £+ 0.010
-0.007 £ 0.010
0.737 £ 0.005
-0.744 £ 0.005

Result (no Lx)

0.569 + 0.006
1.187 + 0.022
-0.376 + 0.004
0.376 + 0.004
0.015 £ 0.010
-0.008 £ 0.010
0.741 + 0.005
-0.748 + 0.005

Result (no L,=)

0.560 + 0.006
1.185 £+ 0.020
-0.373 £ 0.003
0.376 + 0.003
0.008 £ 0.010
-0.003 £ 0.010
0.731 + 0.005
-0.741 + 0.005
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